
1- 1-6 ,tut : 	-f-7# 65.,s1 fTr{ 	1.11* ? 

(1) -*it 	 (2) tuff 

Example : Which bone is related to HEAD ? 

(1) Skull 	 (2) Pelvis 
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PART I 

(3) *11-4 (4) TPTT 

(4) Sapula 

 

(3) Coccyx 

 

 

1. 7-*-1:37 f 	7:17 	gltf trrErr Am( 	: 

	

(1) P-144-111,114-, 	(2) 4,.141ri4 (3) tAi 	dt 	(4) 	dt 

An earthquake is measured by an instrument is called : 

(1) Seismograph 	(2) Barometer 	(3) Speedometer 	(4) Hydrometer 

2. Itti 171fOg en 	6i Tun 7r-dr : 

(1) t-iidiq 3T 717-t 	(2) 3TRtf-Kgr 	(3) Trot .crivniT 	(4) -ar-41-9 

Steppe grassland is found in : 

(1) S. Africa 	(2) Australia 	(3) Central Asia 	(4) Brazil 

3. Tr-414 	 ? 

(1) 1 	 (2) 2 	 (3) 3 	 (4) 0 

The smallest prime number is : 

(1) 1 	 (2) 2 	 (3) 3 	 (4) 0 

4. f4h+mtr1 fcm4 f7 31f 	? 

(1) sito-isq ( 	(2) #1--  ("iic ) 	(3) 'Ot91:1 	 (4) 	16 

Kimberley is famous for : 

(1) Diamonds 	(2) Silver 	(3) Platinum 	(4) None 

5. 4; 	aTtIrg -gfaff 3T4INT -4 4141 	 * ? 

(1) 	)-er-ff 	 (2) 	 (3)  	(4) -17-*-ft 

A liquid non metal is : 

(1) Chlorine 	(2) Bromine 	(3) Iodine 	 (4) Mercury 

6 inixef A-Ritaqi fcit-ft : 

(1) 11 svi 	 (2) 5 17 	 (3) 1371T-07 	(4) 8 Tfr4 

World Population Day is . 

(1) July11 	 (2) June 5 	(3) October 1 	(4) March 8 



7. -f—Tff 	tist 3TitTW .11c1 	( 	? 

(1) 6 	o 	 (2) ri 

Hardest known substance is : 

(1) Diamond 	(2) Iron 

8. fci 	41-) 	3TftTWTI4 Y11 (_q1( 	? 

(1) S B I 	 (2) HDFC 

(3) chid 	 (4) 	 

(3) Glass 	 (4) Silver 

(3) ICICI 	 (4) PNB 

The Bank which has maximum number of branches ? 

(1) S B I 	 (2) HDFC (3) ICICI 	 (4) PNB 

9. if 	,t) 	1 oi* 	 : 

(1)  	 (2) tlrt (ebliqicnr) 	(3) 3fM 	 (4) 4ri  

Name the product of fertilisation : 

(1) Zygote 	 (2) Cell 	 (3) Egg 	 (4) Carpel 

10. 	t 	mli-Tr1 LlIcLf 61t41-1 	? 

(1) 	 (2) 2.1-7T1-4sET9' 	(3) 31741-4-i 	(4) t-ii*e:Tonf'-i-r 

Which of the following is a plant hormone ? 

(1) Insulin 	 (2) Thyroxin 	(3) Oestrogen 	(4) Cytokinin 

11. ITT 4-11,11 14 	cm-e. 	4;‘).-i-R? qrl yiU1 711th 	? 

(1) Fe (c-iW) 	(2) Ca (cg6-14.144) 	(3) Al ( 
	

(4) K 	 

The most aboundant metal in the earth's crust is 

(1) Fe 	 (2) Ca 

12. rilchNi-Tr Tr-q-trzif 	ciAchici 	Ini 	? 

(1) 4 ci4 	 (2) 5 	 

(3) Al 	 (4) K 

(3) o 	 (4) 7 

What is the tenure of the members of Lok Sabha : 

(1) 4 yrs 	 (2) 5 yrs. 	(3) 6 yrs.  

13. 41c-154 	T 	c ch4 3iPitq-d 	 ? 

(1) ITR7 	 (2) ti)-f 
	

(3) 1P-11-1 

16th Asian Games held at : 

(1) India 
	

(2) China 	(3) Japan  

(4) 7 yrs.  

(4) fFTTft 

(4) South Kona 
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14. NTNT 	 ? 

(1) aTrrar 	 (2)c-.1 	 (3) Ht6 	 (4) cI 	 9-e 

Babar died at : 

(1) Agra 	 (2) Delhi 	 (3) Meerut 	 (4) None 

15. alb-f-4 iadtim-1 4 chlqic-d 	: 

(1) 	B12 	 (2) 	B1  

Which Vitamin contain cobalt ? 

(3) 	D (4) C 

(1) 	B12 	 (2) 	B1  (3) D (4) C 

16. 'FW-•*z 	1 -512T11 faYc4 W4 	37rzitf4ff A( -777 ? 

(1) 	1975 4 	 (2) 	1875 4 (3) 1951 4 (4) 199 I 

First World Cup of cricket held in : 

(1) 	1975 	 (2) 	1875 (3) 1951 (4) 1991 

17. 1-t) ‘-r) (FIFA) favq WET, 2010 'WT fa it t1T ch),i ? 

(1) 1* 	 (2) 3TR:tr7N1 	(3) 	s 	 (4) mfi 

Winner of FIFA World Cup of 2010 is : 

(1) Spain 	 (2) Australia 	(3) England 	(4) France 

18. 11*%4I4, 	N Rc1 4 ch4 1-111,41 	 * : 

(2) 31 "ri" (1) 6 	 (3) 6 ?<I:17w 	(4) 2 ITTNt 

No Tabacco Day is celebrated on : 

(1) 6 May 	 (2) 31 May 	(3) 6 December 	(4) 2 February 

19. -13TM --T-tiu-11 Rm.(M 1 	4A1 	: 

(1) 4srrff7T 	 (2) 3m-vii-a-  31171 

(3) i'1-11-01(1 McYi 	 (4) 5i91.idrR Skqf 

Mukul-E-Sangma is the Chief Minister of : 

(1) Meghalaya 
(3) H.P. 

20. NABARD 	t(Sql(141 ch4 ? 

(1) 111:Ef 	 (2) 	rcniet 

Headquarter of NABARD is . 

(1) Mumbai 	(2) New Delhi  

(2) Arunachal Pradesh 
(4) U.P. 

(3) fvm-ffi 	 (4) 	 

(3) Shimla 	 (4) Chandigarh 
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1-TiTT II 

PART II 

     

      

: 	3-1171FT 	 : 

  

1 Montek Singh Ahluwalia 

Example : Deputy Chairman of Planning Commission : 

21. -{-ftRq' 	T4T1-47 ch5i 1T 

National Stock Exchange is at : 

22. ,i(1 TT 	: 

URO is a currency of 

23. NRI 	4-1•11q1 	T : 

NRI Day is celebrated on : 

24. DRDO 	tc,11 	: 

Full form of DRDO is : 

25. 2, 4-D t : 

2, 4-D is a : 

26. "AIDCF" t T-21T797 fWt=1-4 061 ? 

Who founded All India Depressed Classes Federation "AIDCF" : 

27. -71%41 	7:1-1:12 d  T chd K3TT ? 

Gandhi Ervin Agreement held on : 

28. "TfIT 	f+-{:f 	'T{ mfrirqf 4iqf : 

Pong Dam is on the river : 

29. TRYSEM T:1T* ? 

TRYSEM is : 

30. 1-171 t 32TR   31TaWT 9 W? 

Who was the first Chief Election Commissioner of India ? 
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ITPT Ill 
PART Ill 

dr.,91.0 : fqT 	fc-q-R 5 Rif-11-W apt 4-1-W-41 'lilt * I 

Example : The Teacher's Day is celebrated on 5th September.  

31. "Ine-ss-f 71-a" 	 i.9m 	 I 

The "Golden Gate" is written by 	  

32. ISRO* qftrri3-TaRT *1 9Tri 	  I 

The present Chairman of ISRO is 	  

33. tJ<IRl WI 7i 	I 

Khyber Pass is in 	  

34. fq-kr uff Alor I 

	 is called the Roof of the World. 

35. 3-TRaYIT ft -44 	 4ch 	ita-k 	 1 

The present Governor of R.B.I. is 	  

36. "1-ii$01 fir4-d chit' Y1-1* TIP-7W 	I 

	  is the founder of Microsoft Corporation. 

37. 1791 	3Tf 	R air"Wriff '4"ti 	 1111 td f+-71 Jiqf 

"Right to Information Act" came into existence in 	 

38. qd1 4-i-f B1  -WI ci-o-1 	 tirf 	I 

Deficiency disease due to B1  is 	  

39. 5349"*7 TT fa 

	  is the President of Srilanka. 

40. YU-cc 	 zi ft-zmi 

Peace Valley is in 	  
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wm IV 
PART IV 

	 f#r Tr-4 f74TF/f9--- 	3-14 4eirtrff 	91-04R4T-2TU3Tit9.9/f-d97 wr .77 fuci : 
Name the concept/organization/movement/programmes associated with the following signs/symbols : 

41,) 	 dqlvut   liv* ITT chi 	: 

Observe the example given below and try to associate them accordingly : 

      

      

.3c15uf : 
Example : 

 

crci 
Delhi Metro Rail 

  

      

41.  

     

      

      

42.  

     

      

   

43. 
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• , 
44. 

  

45, 

 

  

  

46. 

 

  

4 , 

50. 
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